Exercises (warn-up)

$$f(x) = \cos(5x)$$

$$\begin{cases}
1(x) = -\sin(\sqrt{x}) \cdot \frac{1}{2}x \\
= -\frac{1}{2} \cdot \sin(\sqrt{x}) \cdot x^{-1/2}
\end{cases}$$

$$f(x) = \sin\left(\frac{1}{x}\right)$$

$$f(x) = \cos(\frac{1}{x}) \cdot \frac{1}{x^2}$$

$$f(x) = + \infty \left(\frac{1 - 1^{2}}{x + 1} \right)$$

$$f(x) = \cos\left(\frac{1}{x}\right) \cdot \frac{1}{x^{2}}$$

$$f(x) = +\infty\left(\frac{x+1}{1-\sqrt{x}}\right)$$

$$f(x) = \sec^{2}\left(\frac{x+1}{1-\sqrt{x}}\right)\left[\frac{(1-\sqrt{x})-(x+1)(-\frac{1}{2}x^{2})}{(1-\sqrt{x})^{2}}\right] f'(x) = \cos(x) \cdot \frac{dx}{dx}$$

$$f'(x) = \sec^{2}\left(\frac{x+1}{1-\sqrt{x}}\right)\left[\frac{(1-\sqrt{x})-(x+1)(-\frac{1}{2}x^{2})}{(1-\sqrt{x})^{2}}\right] f'(x) = \cos(x) \cdot \frac{dx}{dx}$$

$$f'(x) = \sec^{2}\left(\frac{x+1}{1-\sqrt{x}}\right)\left[\frac{(1-\sqrt{x})-(x+1)(-\frac{1}{2}x^{2})}{(1-\sqrt{x})^{2}}\right] f'(x) = \cos(x) \cdot \frac{dx}{dx}$$

$$f(x) = \cos(\sin(x))$$

$$f(x) = -\sin(\sin(x))\cdot\cos(x)$$

$$-\sin(\sin(x))\cdot\omega(x)$$

$$f(x) = e^{\cos(\sqrt{x})}$$

$$\frac{d}{dx}(\cos(u)) = -\sin(u)\frac{dx}{dx}$$

$$\frac{d}{dx}\left(\sin\left(u\right)\right) = \cos\left(u\right) \cdot \frac{du}{dx}$$

$$e^{\omega_{S}(\mathcal{T}_{X})} \left[\frac{1}{2} \sin(\mathcal{T}_{X}) \times \frac{1}{2} \right] = \frac{1}{2\mathcal{T}_{X}} \cdot \mathcal{C} \cdot \sin(\mathcal{C}_{X})$$

Derivatives: Wed Wk6

- ▼1. Warm-up:
 - a. loose ends
 - b. Higher Derivative notation
 - ▼ c. Other trig derivatives
 - -i. cot, csc, sec
 - 2. Chart
 - 3. Implicit Diff

$$y = \sin(x)$$

$$y = \cos(x)$$

$$y = -\sin(x)$$

$$y = -\cos(x)$$

$$y = -\cos(x)$$

$$y = -(-\sin(x)) = \sin(x)$$

$$y = -(-\sin(x)) = \sin(x)$$

$$y = -\sin(x)$$

$$y = -\sin(x)$$

$$\frac{d}{dx}\left(\frac{1}{\operatorname{cec}(x)}\right) = \frac{d}{dx}\left(\frac{1}{\operatorname{ces}(x)}\right) = \frac{\operatorname{ces}(x) \cdot 0 + 1 \cdot \sin(x)}{\operatorname{ces}^2(x)} = \frac{\sin(x)}{\operatorname{ces}^2(x)} = \frac{\sin(x)}{\operatorname{ces}^2(x)} \cdot \frac{1}{\operatorname{ces}(x)} \cdot \frac{1}{$$

$$\frac{d}{dx}\left(Csc(x)\right) = \frac{1}{1x}\left(\frac{1}{sin(x)}\right) = \frac{6 - 1 \cdot \omega s(x)}{sin^2(x)} = \frac{-\omega s(x)}{sin(x)} = \frac{-\omega s(x)}{sin(x)} = \frac{-\omega s(x)}{-\omega s(x)} = \frac{-\omega s(x)}$$

$$\frac{d}{dx}\left(\cot(x)\right) = \frac{d}{dx}\left(\frac{\cos(x)}{\sin(x)}\right) = \frac{-\sin(x) - \cos(x)}{\sin^2(x)} = -\left(\frac{\sin^2 x + \cos^2 x}{\sin^2(x)}\right) = \frac{-1}{\sin^2(x)} = -\csc^2(x)$$

$$\frac{d}{dx}\left(\operatorname{Sec}(\sqrt{x}+x)\right)$$

$$\operatorname{Sec}(\sqrt{x}+x)\operatorname{tan}(\sqrt{x}+x)\cdot\left[\frac{1}{2}x^{\frac{1}{2}}+1\right]$$

Implizit differentiation

First, consider

$$y = (\sqrt{x} + \sqrt{x})^2 + (e^x + \sqrt{x})^2$$

$$\int app \ln \frac{dx}{dx} \quad \text{to both side}$$

$$\frac{d}{dx}(y) = \frac{1}{dx}((\sqrt{x} + 1)^2 + \frac{1}{dx}(e^{x} + 1)^2) = \frac{1}{dx}((\sqrt{x} + 1)^2 + \frac{1}{dx}(e^{x} + 1)^2)$$

$$= ((\sqrt{x} + 1)^2 + (\sqrt{x} + 1)^2 + 2(e^{x} + 1)$$